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. A banking partnership business can have

(1) Not more than 10 partners
{2) Not more than 20 partners
{3) Not more than 50 partners
(4) Any number of partners

In the absence of an agreement, profit and

. loss are divided by partners in the ratio of

- {1) Capital

(2) Equally
(3) Time devoted by each partner
(4) None of these

In the absence of an agreement, Interest on
loan advanced by the partner to the firm is
allowed at the rate of

(1) 6%
(2) 5%
(3) 12%
(4) 9%

Current accounts of the partners should be
opened when the capitals are

(1) Fluctuating

: (2) Fixed

(3) Either fixed or fluctuating
(4) None of these

Investment in partnership is made by

introducing

(1) Cash
(2) Non-cash assets
(3) Cash or non-cash assets

(4) None of these

(4]
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Partnership is formed by
(1)
(2)
(3) Written or oral agreement
(4)

Written agrecment

Oral agreement

None of these

At the time of admission of a new partner,
the firm is

(1)
(2) Continued

(3) Not affected
(4) Reorganized

Dissolved

The written agreement of partnership is
called

(1} Partnership deed
(2) Articles of association
Memorandum of association

{4) None of these

Under fixed capital methods, profit will be
credited to

(1) Capital Account
(2) Drawings

(3) Current Alc

(4) Profit & Loss

Capital of the partners can be maintained by
(1) Fixed capital method

(2) Fluctuating capital method

(3) Both (1) and (2) methods

(4) None of these

(5)
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of partnership firm are

individually called as

(1)
(2)
(3)
(4)

Directors
Promoters
Partners

Employees

In India, the Companies are registered under

(1)
(2)
(3)
(4)

Eumpuﬂl'ms Act, 1913
Partnership Act, 1932
Companiea Act, 1956
None of the above

A company i8 formed by

(1)
(2)
(3)
(4)

Owners
Promoters
Directors
Employees

A company is managed by

(1)
(2}
(3)
(4)

Owners
Promoters
Directors
Public

The word ‘limited’ at the end of a company’s
name means '

(1)
(2)
(3)
(4)

Liability is unlimited
Liability is limited
No specific meaning

Applies to private companies only

(6)
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The face value of share is called
(1)
(2)
(3)
(4)

Book value
Par value
Market value
None of these

Ordinary shares are also called |
(1) Equity shares

(2)
(3)
(4)

Founder's shares
. Deferred shares

Bn;mua shares

Deferred shares are generally issued to
(1} Promoters |
(2) Managing agents
(3) General Public

(4)

Government

The minimum members in private limited
company are

(1) 2
2 7
(3) 10
(4) 20

The minimum members in public limited
company are

(1) 2
2) 7
(3) 20
(4) 80

(7}
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Discount on share iz shown in the balance
sheet as a/an '

(1) Asset

(2) Liability

(3) Deduction in paid-up capital
(4) Deduction from asset side

Share premium is shown in the balance sheet
as alan

(1) Asset:

Liability
(3)
(4)

Deduction in paid-up capital

Deduction from assct side

The person who takes the risk of full
subscription of shares is known as

(1) Director

(2) Promoter
(3) Underwriter
(4). Shareholder

For calculating price-earnings ratio, it is
easential to know

(1)
(2)
(3}
(4)

Market value per share

Nominal value per share
Paid-up value per share

None of the above

For calculating the value of an equity share
by earning capaeity method, it is essential to
know

(1) Nominal value per share
(2) Rate of earning

(3) Dividend per share

(4) None of the above
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AMOA/O56 {19)
26. For caleulating the value of an equily share |28,
by yield method, it 1s essential to know
(1) Expected rate of reiurn
(2) Called-up equity share capital
(3) Capital employed
(4} None of the above
27. The maximum number of members in a
private limiled company are
(1) 20 s
(2) 30
3y 50
(4} Unlimited
28, Calls in arrears are shown on the
, 28,
(1) Asset side of the general balance shect
(2) Expenditure side of receipts and
paymenis account
(3) Receipt side of receipts and paymenis
account
(4) None of the above
29,
29, Listed companies should provide interim
reports not later than
(1) 30 days after the period ends
(2) 60 days after the period ends
(3) 90 days after the period ends
(4) None of the above
30. The profits of the last 5 yecars are T 4,000, 30,
7 6,000, ¥ 8,000, T 10,000 and T 7,000
respectively. The goodwill = 3 years’ purchase
of the average profits of the last 5 years,
Henee, the goodwill be valued at
(1) T 18,000
{2) T 12,000
(3) ¥ 21,000
(4) ¥ 35,000
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32,

33.
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Accounting principles are gencrally based on
(1)
(2)
(3)
(4)

Subjectivity

Convenience in recording
Practicality

All of the above

Market value of investments is shown as a
footnote to balance sheet according to

(1)
(2)
(3)
(4)

Consistency concept
Disclosures concepl
Materiality concept

Going concern concept

Current liabilities do not include

{1) Unclaimed dividend

(2) Creditors
(3) Capital
(4) Bank overdraft

The system of recording transactions based
on dual concept 1s called

(1)
(2)
(3)
(4)

Double entry system
Single entry system
Double standard system

None of these

Accounting is a/an
(1) Science

(2) Art

(3) Both (1) and (2)

{(4) None of these

{10}

31.

32,

34.

35.

B

¥ KwE dgrosren Sttt wordsd
aodron 7

(1) DE>S Ipds
(2) ZIrHE Dew s
(3) wdScdaes s

2

) dgrod |BBOEDS, vDovwde LTS

dend, ol edyo P8 oddSwnr
Srdyeess ?
(1) P68y dgrodo

(2) Dol wardd ~grodo
(3) |srawmge Ibg*:}éﬂ
W EOihdid)  dod  bgrodo (8%

ﬁa@& ?.‘ua"ﬂéiw:l

(D8 wdew 570D
(1) 3DoSd BdBodk
(2) aweordw

37 srodso

(4) ergof &6 |79

roe S :ng.}éi [ra8d88n HE§
B&gﬁéﬁmﬂﬂ LAt e KJQ EH

47 Srode B dgrdo

(2) 208 D Ao
(3) &gode V8 Dgrdo
4) 28 s

ud¥ Heo¥ 220950
& =i .

D) ¥ p&

@) 2 ¥¢

(3 (1) ©B6o% (2) Bodr
26 s

};l-i'

www.sakshieducation.com



AMOA/O56

36.

37.

38.

39,

410,

www.sakshieducation.com

According to money measurement concept the
following will be recorded in the books of

accounts.

(1} Value of the building

(2)  Quality control in the business
(3)
(4)

Health of the employees of the company
All of the above

According to the concept, the
proprictor is treated as a creditor to the
extent of his capital.

(1) Cost

(2) Money measurement
(3) Entity

{(4)

Dual Aspect

Cost concept envisages the recording of the
following in the books of Accounts.

(1) Knowledge and skill
business cxecutive

acquired by

(2)
(3)
(4) None of these

Changes due to political events
Cost of assets

Purpose of accounting is to provide financial
information to

(1) Board of Directors
(2) Tax Authorities
(3) Investors

{4)  All of the above

According to the
concept, the following will be recorded in the
hooks of accounts.

(1) Extra profits made due to introduction

of @ budgetary control system

(2}  Quality control in the business
{(3) Commission payable to a salesman
(4}  All of the above

money measurement

(11}
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42,

43.

44.

45.
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The individual accounts with customers are
included in a subsidiary ledger called

(n
(2)
(3)
(4)

Assect ledger
Accounts payable ledger
Expense ledger

Accounts reccivable ledger

Every controlling account must have ils own

(1) Revenue ledger

(2) General ledger
(3) Subsidiary ledger
{4) Journal

Capital in the beginning is ascertained from
(1)
(2)
(3)
(4)

Opening balance sheet
Closing balance sheet
Revenue account

None of the above

Bills receivable received during the ycar is
credited to

(1)
(2)

Debtors' account
Creditors” account
{3)  Bank account

(4} None of the above

Bills receivable which is endorsed is debited
lo

(1) Creditors’ account

(2) Bank account
(3) Deblors' account
{(4) None of the above

(12)
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Bills payable paid during the year will be
debited to

(1)
(2)
{ﬁf/ Debtors’ account
(4)

Bills payable account

Creditors’ account

None of the above

Bills payable paid during the year will be
credited Lo

(1)
(2)
{3)
(4)

Creditors’ account
Bank account
Debtore’ account

None of the above |

Bills receivable endorsed but dishonored is
debited to

(1} Debtors’ account
(2)
(3)
(4)

Creditore’ account
Endorsee’s account

None of the above

An example of subsidiary book ia
(1) Cash book

(2) Trial balance

{3}
(4)

Balance shect

None of the above

Cheques issued but not presented to the bank
for payment will

(1)
(2)
(3)

Im:rem_ie the Cash book balance
Increase the Pass book balance
Decrease the Cash book balance

None of the above

{13)
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AMOA/056
51. The balance of cash book shows
(1) net income
(2) cash in hand
(3) net expenditure
(4) None of these
62.° Bank Reconciliation Statement is
(1) A statement of cheques issued and
presented for payment 1
(2) A statement of bank book and cash in
hand
(3) A statement of settlement of
discrepancies in the balances
(4) Mone of these
53. ‘'Bank Reconciliation Statement cannot be
prepared with balance as per cash book
alune
(1)  True
(2) False
(3) Both (1) and (2)
(4) Cannot say
54. While . preparing bank reconciliation’
statement from the cash book, bank charges
debited directly by the bank but not informed
the customer about them, are '
(1) Added
(2) Deducted
(3)  Multiplied
{4) None of the above
65. A five months' bill drawn on 2™ February

2012 will mature for payment on

12012

(1) September s
(2) September 2™
(3) February %

(4) Hum'; of these

{14 )
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In arriving at adjusted cash balance the
following factor is not taken into account.

(1) Amount deposited by our customer

direct into our bank account
(2) Errors in the cash book
(3)

(4)

Errors in the pass book

None of these

When bank column of a cash book shows a
credit balance, it means

(1) Overdraft

(2) Cash book ha!anne.
(3)
(4)

Pogitive balance of pass book

None of these

A bank reconciliation statement is prepared
by

(1)
(2)
(3)
(4)

Creditors
Debtors
Businessmen

Customers (bank)

Favorable balance as per cash book means
(1) Debit balance in the cash book '
(2) Debit balance in the pass book

(3) Both (1) and (2}

(4) None of these

Overdraft as per cash book means

(1) Credit balance in the cash column of the

cash book

(2) Credit balance in the bank column of
the cash book

(3) Debit balance in the cash book

None of these

(4)

{15}
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A business has a capital of T 40,000 at the
end. It had earned profits of ¥ 5,000 during
the year. Hence, the average capital of the
business will be

(1)
(2)
(3)
(4)

T 42,500
T 37,500
T 35,000
T 40,000

If the super-profits of a business are T E'.I]ﬂﬂ
and the normal rate of profit is 10%, then the
amount of goodwill as per the capitalisation
method will be

(1)
(2)

¥ 60,000
T 6,600
(3) T 600

(4) ¥ 6,000

If the average capital of a business is
¥ 60,000 and the normal rate of profit is 156%,
then the normal profits will amount to

(1) % 10,000
2 9,000
2 16,000

T 6,000

(2)
(3)
(4)

Which of the following categories is included
in generally accepted auditing standards ?

(1) Standards of review
(2)
(3)

(4)

Standards of planning
Standards of ficldwork

Standards of evidence

{16)
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AMOA/OS6 {17 )
65. The value of goodwill, according to the simple |85,
profit method, is
(1) The product of current year’s profit and
number of years -
(2) The product of last year's profit and
number of years
(3) The product of average profits of the
given years and number of years
{(4) None of the above
66.
66. The goodwill of a business is to be valued at
3 years’ purchase of the average profits of the
last three years. - The profits of the last three
years are T 5,000, T 6,000. and T 7,000
respectively, Hence, the goodwill will be
valued at
(1) ¥ 18,000
(2) < 12,000
(3) ¥ 15,000
(4 ¥ 6,000
67. A business has a capital of ¥ 10,75,000 at the |g7,
beginning. It had earned profits of ¥ 5,00,000
during the year. Hence, the average capital of
the business will be
(1): T 7,87,69,000
(2) T 13,25,000
(3) ¥ 15,75,000
(4) ¢ 8,25,000

Forde oy H88 [Bs8o, HEDS

(1) [Ppd  Doxdyy  orgray, By
Joddyored’ ey dabdo

@) |Bos8 dodSBody oerd), EX

dodsyoros® s Joddo

{31/ ) doddyore Jod0 ergry, oy
doddyored ) Sabdo

4) wd s

o8 DARNS' K DHorehy Doddyore Jordd
oy,  Ardd eoydobm SO0
Awgedy  HEIST AP, Bd Dard
DoREorL ':;Pzp‘w T 5,000, T 86,000
Hbon T 7,000 wowd HEIS Dewd

@ 718,000
(2) T 12,000
(3)
(4)

Z 15,000

T 6,000

af TgrE DoPS”  (rdody Dwrodvo
T 10,75,000. ﬁﬂﬁé&ﬁa’g} erdio T E,D[h,ﬂ-l]ﬂ
Hoehd daredddod 7

(1 ¥ 17,87,69,000
(2)
‘(31"' T 15,765,000
(4)

Z 13,25,000

¥ 8,265,000
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A busincss has a capital of T 10,75,000 at the
end. It had earned profits of T 5,00,000
during the year. Hence, the average capital of
the business will be

(1) T 7,87,59,000

(2) ¥ 13,25,000

(3) ¥ 15,75,000

(4) T 8,25,000

If the profits of a business for four years are
T 6,000, T 8,000, T 10,000 and loss T 12,000
respectively the average profit is

(1) ¥ 5,000

(2) T 4,000

(3) ¥ 3,000

(4) T 2,000

It is given thal net assets available for equity
and preference shares amount to ¥ 90,000,
The paid-up capitals are 10,000 equity shares
of T 2 each and 5,000 preference shares of
T 10 each. Therefore, value of an equity share
will be

(1) T 5 per share

(2) T 4 per share

(3) T 3 per share

(4) ¥ 2 per share

(18)

70.

68, o¥ agRrd ;’:agé* Hoddyorod Lureso
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(4) ¥ 8,25,000

a8 agard ﬁa%eﬁ‘ ereren HEDm T 6,000,
T 8,000, T 10,000 00X Eﬁ;!ﬂ T 12,000 ev
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2 T 2,000
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It is given that net assels available for equity
and preference shares amount to T 1,87,000.
The paid-up capitals are 10,000 equity shares
of ¥ 4 each and 5,000 preference shares of
¥ 10 each. Therefore, value of a preference
share will be

(1
(2)
(3)
{4)

¥ 10 per share
T 40 per share
T 30 per share

None of the above

Under the yield method of valuation of equity
share capital, if for an equity share of T 50,
the normal rate of return is 10% and the
expected rate of return is 5%, then the value
of an equity share will be

(1)
(2)
(3)
(4)

T 25
T 80
T 100
T 200

For calculating the value of an equity share
by intrinsic value methed, it is essential to
know

(1)

MNormal rate of return

(2) Expected rate of return
(3) Net equity
{4) None of the above

For calculating the value of an equity share
by yield method, it is cssential to know

{1) Normal rate of return
(2)
(3)

{4)

Called-up equity sharc capital
Capital employed

None of the above

{19)
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For ealculating price-carnings ratio, it is
essential Lo know

(1) Face value per share

(2) Nominal value per share
(1)  Paid-up value per share
{4) None of the above

For calculating the value of an eqﬁity share
by carning capacity method, it 18 essential 1o
know

(1) Nominal value per share
(2) TFaee value per share
(3) Dividend per share

{4) None of the above

It is given that net assels available for equity
and preference shares amount to ¥ 9,00,000.
The paid-up capitals are 10,000 cquity shares
of ¥ 2 cach and 5,000 preference shares of
T 10 each. Therfore, value of an equity share
will be

(1} ¥ 2 per share
(2) T 4 per share
(3) T 5 per share

(1) None of the above

It is given that net assels available for equity
and preference shares amount to ¥ 2,60,000.
The paid-up capitals are 10,000 equity sharcs
of T 4 each and 5,000 preference shares of
T 10 cach. Therefore, value of a preference

share will bo
{1)
{2)
{3)

T 10 per share

T 8 per share

T 20 per share

(4) None of the above

{20}
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Under the yield method of valuation of equity
share capital, if for an equity sharc of T 50,
the normal rate of return is 10% and the
expected rate of return is 5%, then the value
of an equity share will be

(1) T 250
(2) T 150
(3) TS50

(1} None of the above

For calculating the value of an cquily share
by intrinsic value metheod, it is cssential to
know

(1) Normal rate of return
(2) Expeeted rate of return
(3) Face value per share

(4) None of the above

A Co. and B Co., go into liguidation and a
new company X Co. is formed. It is a case of
(1) Amalgamation
(2) Absorption

(3) ReconsLruclion

(4) Liguidation

X Co., goes into liquidation and a new
company Z Co. is formed to take over the
business of X Co. It is a case of

(1) Absorption

(2) External reconsatruction
(3) Amalgamation

(4) Ligquidation

{21)
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X Co. goes into liquidation, an existing Z Co.
purchases the business of X Co. It is a case of

(1) Absorption
(2) Reconstruction
(3) Amalgamation

(4) None of the above

Accumulated profits include
(1) Provision for doubtful debts
(2) Superannuation fund

(3) Warkmen's compensation fund

(4) None of the above

Liabilities (not accumulated profits) of a
company include

(1) General reserve
(2) Pension fund
(3) Dividend equalisation fund

(4) None of the above

When the expenses of liquidation are to be
borne by the vendor company, then the
vendor company debits

(1) Realisation account
(2) Bank account
(3) Goodwill account

(4) None of the above

(22)
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When the expenses of liquidation are to be
borne by the purchasing company, then the
purchasing company debits

(1) Vendor company’s account
(2) Bank account
(3) Goodwill account

(4) None of the above

When the purchasing company makes
payment of the purchase consideration, it
debits

(1) Business purchase account
(2) Assets account
(3) Vendor company’'s account

(4) None of the ﬂhl]w}_

The vendor company transfers preliminary
expenses (at the time of absorption) to

(1) Equity sharcholders’ account
(2) Realisation account
(3) Purchasing company’s account

(4) None of the above

For paying liabilities not taken over by the
purchasing company, the vendor company
credits

(1} Realisation account
(2) Bank account
(3) Liabilities account

(4} None of the abovec

(23 )
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The opening capital is ascertained by
prepanng

(1) Cash book

(2) Creditors Alc

(3) Debtors Alc

(4) Opening statement of affairs :

A single entry system is
(1)
(2)
(3)
(4)

Complete and scientific -
Incomplete and unscientific
Incomplete and scientific

Complete and unscientific

Single entry system has the following effect.
(1) One sided effect

(2) Two sided cffect

(3) Three sided effect

(4) None of the above

In single entry system, it is not possible to
prepare

(1) Rececipts and Payments Ale

(2) Trial balance

(3) Balance shect

{(4)  Account sales

-A single entry system is usually adopted by
(1) Company

(2) Partnership

(3) Government

(4) None of the above

(24)
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Single entry system is most suited wherc
Cash transactions are many

(2)
(3)
(4)

Credit transactions are many
Cash and credit transactions are many

None of the above

Capital can be obtained by preparing
(1) Cash book

(2) Statement of affairs

(3) Debtors Alc

(4) Creditors Alc

Credit sales can be obtained by preparing
(1) Cash book |

{2) Statement of affairs

(3) Debtors Alc

(4) Creditors Ale

Credit purchases can be caleulated by

preparing
(1) Cash book
(2)
(3)

(4)

Statement of affairs
Debtors Alc
Creditors Ale

Cash i;n hand can be obtained by preparing
(1) Cash book |

(2)
(3)

(4)

Statement of affairs
Debtors Ale
Creditors Alc

{25)
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101. If the rate of G.P. on sale is 20% and cost of

102.

103.

104.

105.

- (3)
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goods sold is T 1,00,000, then amount of G.P.
will be equal to

(1) T 20,000
(2) T 25,000
(3) T 85,000
(4) T 15,000

Under Hire Purchase System, depreciation is
charged on

(1)
(2)
(3)
(4)

Cash price
Hire purchase price
Market price

None of these

What is transferred to hirer under Hire
purchase system 7

(1)
(2)

Ownership of asset
Possesgion of asset
Ownership and possession of asset

{(4) None of these

Hire Purchase Act came into effect in the
year

(1)
(2)
(3)
(4)

1932
1956
1972
1872

The Sale of Goods Act is applicable in
(1) Cash Purchases

(2) Credit Sales

(3) Cash Sales

(4) None of these

(26 )
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AMOA/056 (27) B
1068. What is transferred to purchaser under [106. a:'m BOoR) K:QE#E‘ it 28
Instalment Payment system 7 28 epsod ?
(1) Ownership of Assets () sdod abredridgy) P
(2) Possession of Assets 2) wdo ﬂ'sl.f&fm :
(3) Ownership and Possession of asscls 13 edo. .51-5@;54:: S8 ofn nﬁ*mﬁr&g
(4} None of these 3‘5327
(4) o8 5%
107. Who is the hire vendor ? 107. 3 nggﬂﬁ‘& -
(1) Seller of the goods iﬂf T u&‘:}zﬁnn‘ﬁa
(2) Buyer of the goods O Bt W
(3) Agent of the goods —.
(4) None of the above () s
108. Who is the hire purchaser ? 108. ©3 Eoffoord bt 7
(1) Seller of the goods : (1) HodHe ﬂﬁ:&éaﬁ'ﬁa
(2) Buyer of the goods @77 d%%e Fhifaadd
(3) Agent of the goods (3) JB%o JBodw
(4) None of the above (4) 26 %
109. Re-possession of goods sold takes place R0R; WERR. wiee ik 3*3¢§:¢ BRI

110.

(1)
(2)
(3)
(4)

J&’D&Jﬁ& atbdiod ?
in Instalment system M Tonore S8a5E

& 2
(2) wEFLF ™ ;agaé‘
(3) E}ahb :)gﬂcﬁ‘
(4) 28 5%

in Hire purchase system
in Agency system
None of the above

sach instalment including down payment (if [110, £%) 3063 30odF Fhn& 3¢ Yol
any) is treated as hire charges by the Froncrod Erd, od |Sod wﬂﬂgﬁﬁém 9
(1) Buyer (1) SHffood

(2} Seller . winSoad

(3) Agent B oBoku

(4) None of these (4) SD8r 5™
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AMOA/056 (28)
111. All cash transactions arc shown in 111. K Sgdikor Srdd Jods® ?

(1) Recepits and Payments account (1) m-ﬁa BdoHo et

(2) Income and Expenditure account (2 ool Hgobro & et

(3) Balance Sheel

(3) uh sdye Sd8°
(4) None of the above 3 Ag g

(4) bé s

112, Income and Expenditure accosunt covers only (112 worah f:-sni'.l‘u st D Srdyords ?

(1) Revenue items (1) am-s OTED

(2) Capital itlecms
(2) Jrods soTen
3 drods Do IIrg vorw

1) w8 =%

(3) Capital and revenuce items

{4) None of the above

113. The balance of an income and expenditure

account shows 113. ©orol Sgolre e Jug I Srsod ?

(1) Surplus 47 e
(2) Profit @) erdo
(3) loss (3) "'-'*Eﬂ

{4) None of the above 1) D8 s

114. In income and expenditure account, the [114. worod égui:‘t} wr St i:gu!(r::ﬁ:
expenditure is recorded on the M@ﬁg 3 Sripeds
(1) Credit side
(2) 3D8 3y SrHed

(2) Debit side
(3) Both (1) and (2) (3) (1) SdoXn (2) Jodr

(4) None of the above 4) 08 s

115. a-gé-ﬁﬁﬁ ﬁn&é‘a LrodTdy Jodrd ?
115. Capital of a non-trading concern is called

(1)  Accumulated fund (1) DJowd 28
(2) Surplus 2 ibexn
(3) Deficit : 8) &%
(4) None of the above U5 D8 s
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116.

117.

118.

119.

120.
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The surplus of income and expenditure
account is added to

(1)
(2)
(3)
(4)

Capital fund
Cash
Profit

Loss

Income and expenditure account includes
(1)
(2)
(3)
{4)

[tem related to that year
Only payments made in the year
Only incomes received in thal year

Mone of the above

While preparing Income and expenditure
account from Receipts and payments account

(1) Include only revenue items

(2)  Exclude all revenue items
(3) Capital and revenuc cxpenses
{(4) None of the above

The following statement is Lrue in the case of
receipts and paymenls account.

(1) No distinction is made between capital

and revenue

(2) Distinction is made between capital and

revenue
(3)
(4)

Only capital items are entered
None of the above

Following statement is false in the case of
receipls and payments account.

(1)
(2)
(3)
(4)

Only amount received is entered
Outstanding amount is entered
Only amount paid is entered

Has an opening balance of cash

{29)

1186.

117.

118.

118.

120.

. (4)

(8]
garC88 DoPS) Dither dIS e
@ Srodd 28

(2) &

(3)

erSo
RO .
sorol Heolro grerdst

HT 2.4 RODSNTIE
WO D 0L oW

a¥ Joddydos® B 3DoPHwodron
(3) o8 Jomdyord SOy DT 0 o
4) &8 s

é.fbﬁ#aa 0oy wrer wod, uorad
sgalro gree éﬂ&‘mﬁ‘i)-taa’:;pﬁa

(1) B38rg woren dr@d ad&ad
(2) T3brg sowew a53ard

OO0 WD

(2)

@ drogs ook OBy oo
- anfad

1) 8 s

Hareh) BoHo grer odod’, (8o

Srod® 20 Sdgo ?
(1) Srogd Hbak I3y wowrod

dar SBohE'DH
Mﬁ*ﬂéﬁ oy  TIrg WO St
do SrHedh
(3) awrodd worw HrED SrHed
1) 28 5%

é;":mﬁoa BdoPo grec Jhobod®, |Sod
Srbs® o8 sd8g0 7

(1) Sdroowd oy $3rS 3P
£ oobobd uorarod $ard I
(8) JDoS ﬁl‘énl SR J3E

(4) o8 s
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122,

123.

124.
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The error in the casting of sales book is called
as

(1)
(2)
(3)
(4)

Clerical error
Error of principle
Compensating crror

None of these

Error of commission arises when

(1)  Any transaction is incorrectly recorded,

either wholly or partially

Any transaction is left either wholly or
partially

Any transaclion is recorded
fundamentally incorrect manner

(2)

in a

(3)

(4) None of these

Wages paid for the erection of a machine
debited to wager account is an example of

(1)
(2)
(3)
(4)

Error of principle
{!]::ricnl error
Compensating error

None of these

How many accounts does the FError of

Commission allcet ?
(1) :
(2)
(3)
(4)

One account
Two accounts
Two or more accounts

None of these

Preparation of trial balance helps in locating
(1)
(2)
(3)
(4)

Errors of Omission
Errors of Commissgion
Compensating error

None of the above

({30)
121.

122,

123.

124.

125.

PREos® 200

winsTo [FRbdypd
SH P

@ Ddrd S5y

(2) hg'm'.i ddy

(3) J0F Sdy

(1) 8 s
[Fro¥dos’ = F
adibdodod

(1) g s,  Fam s, ¥
Se50nD) Sy Sdrcy ISP
DB aE  BgSSody odw,
Fam 0 S3rd Jond od

éa‘:"):; ;‘E.‘r;):-d:

4]

(3) :}Ea" ¥ éﬁﬁﬁ‘ﬂ‘ﬁl Lﬂ‘*:ﬁb}ﬁﬂmﬁ
Sy )

4) 28 =&

e¥  obolerdy (D8hodbdypd BoWd

ddren Idao prord FE0G 3D, u
&SP

(1) dgrod 8o sobrh

(2) HdrYy Sho votrd

(3) Jowy &%o wobrd

“r D8 s

S Dpdypds ID Sy M ool
(P80 Svod

(1)
(2) Toth precew

4 Bodk md wod Lo D greven
(1) b s

vo¥tr dofrdHd Joddo S, & Edypw
deoron ?

(1) w8 &rw

(2) $3rS Sren

(3) Jovy e

d) 08 s

8 e
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128,

129,

130.
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An entry of ¥ 8B40 being debited to Raja’s a/e
as T 480 would be an error of

(1) Commission
(2) Omission
(3) Principle

(4) Negligence

An expense of ¥ 500 on cartage of a new
machine purchased should be debited to

(1) Cash a/c

(2) Miscellaneous expenses a'c
(3) Cartage a/c

(4) Machine a/c

Error which affects only one account can be
(1)
(2)
(3)
(4)

Error of Commission
Error of principle
Compensating Error
None of the above

An entry of T 320 has been wrongly debited
to Krishnan'’s account instead of debiting
Kishtaiah's account. It is

(1)
(2)
(3
(4)

Compensating error
‘Error of Omission
Errvr of Principle

None of the above

Sales to Ranga, T 336, posted to his account
as ¥ 363 affects

(1)
(2)
(3)
(4)

Sales account
Ranga's account
Both (1) and (2)
None of these

131)

1286.

orer s BDE IS T 840 o, T 480 curr
Sardond, o Sy Soird ?

(1) SB= %o
(2) e¥y8 &ho
(3) Ngrod &ao

W eig Sho

127.

128,

128.

130.

£d obojgo B udypd edby wrdol
&y T 500 J E8 30S Hoxrd ?

(1) [KS gromd)

(2) Db pine e

(3) e ek

) obo|fo grerd

w8 grevd (Derddo I Shy
(1) I3reh Sdo =iy

(2) ©¥)8 o oSy

@ hg"aé &0 S

H4T b =%

Shotgs BOS Ind By
ERRIY an®s wond, u S5y
Al %8 Ih Sy

(2) w8 &y

(3) dgrod Sby |

4) 28 s

T 320 ew,

forr® edpd T 336 w, w8 pred
? 363 m S3rdowd, ©d& &b o
(Berddo TFood

A ednso gretd
(2)
(3)
(4)

dom grer
(1) subo¥y (2) Todr
D8 sk

www.sakshieducation.com



AMOA/OS6
131. An entry of ¥ 1,000 being wrongly posted to

132.

133.

134.

135.
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Wages a/c instead of Salary a/c would be an
error of

(1)
(2)
(3)
(4)

Omission
Commission
Ignorance

None of the above

An amount of ¥ 200 paid to Rama against an
acceptance was debited to Roja's account. The
rectification of the error will

(1)
(2)
(3)
(4)

Increase the net profit

Increase Rama's account
Reduce net profit :

Have no effect on the net profit

An amount written off as bad debt was

received from Sridhar and was credited to |

Sridhar's personal account. The rectification
of this entry will

(1)
(2)
(3)
(4)

Increase net profit
Reduce net profit
Both (1) and (2)
None of these

Discount allowed ¥ 93 to Mohan has been

eredited to his account as T 39. The error will
be rectified by

(1) - Debiting Mohan by ¥ 54
(2) Crediting Mohan by T 564
(3) Debiting discount by T 54
(4) None of these

Which of the following items is ehown on the
debit side of a trial balance ?

(1)
(2)
(3)
(4)

Purchase returna
Rent outstanding a/c
Prepaid expenses

None of these

(32)

131.

132,

133.

184.

doro prod ovalrodd o o8 T 1,000
od Jévo gred R, v ddy

(1) o¥s &40

87 -dard o

(3) szpdo

4) b s

8 DowrdNS T 200 o E'erd 3OS
sond, ¢ &5y 208855y

(1) erdfo DHE0H

&2) & proe Ddhdod

(3) oo SHibdod

(4) oo (@Bzruo dodd

od w8 808 % IS Jdyd @b
Dod Shrocwddypd Mook &85 e

(388 T, v S5y S008I Spd

3
(2)
(3)
(4)

P88 ergondibédod
&8 oo ﬁgqﬁiimﬂ
(1) do¥y (2) Sodr
o8 =%

e ﬂ%ﬁ &%otw T 93, L1734/
grors' T 39 m (388 vonod ¢ &y
}‘Jﬂﬁg‘unﬂ :

(1) 258 e T 54 of 308 Jdard

kS £ 35S e T 54 08 2385 Jokrd
51 (3) A3 of gror T 54 05 3D Jakrd

S Y 58 s

1356.

(208 &S wo¥rd® DS IPH o
®040

g7 ThHfew s

(2) DDoUddOdS ©3

(3) Jwodorr VYWD piyyw
4 26 s
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(3)
(4)

Both the sides

None of these

Qutstanding salaries appears on which side
of the trial balance ?

(1) Credit side

(2) Debit side

(3) Both the sides

(4) None of the ahn';re

Goods of the value of ¥ 1,600 taken by the
proprietor for hie personal use should be
debited to

(1)
(2)
(3)
(4)

Salee account
Purchase account .
Drawings account

None of these

Goods destroyed by fire should be credited to
(1)
(2)
(3)
(4)

Purchase account
Sales account
Loss of goods by fire account

None of these

The credit balance of bank account in the
cash book indicates

Amount payable by the bank
- Amount payable to the bank
Amount received by the bank
Cash at bank

(2)
(3)
)

AMOA/DBE (33)
138. Bills receivable will appear on the [1386.
: of the trial balance.

(1) Credit side

(2) Debit side

137.

138.

1398.

140.

Shren  Svodw  wolwdst 2D 3P

SrHer s

(1) 348 3
2] ab& 3y
(3) ﬁqr.‘i:- Sper
(4) & s

BDoddodbd Lo wofrd® Q3P
srerd

(1) 288 3D
@ ads 3%
(3] Do IHheor
(4) D8 s

obedrn &5 rod adsod T 1,500
555 85208 b dDE 30 Jard ?

(1) Hi::&?ﬂ LT o

(2) O o
9] 2od s g e
(4) 28 5%

wfy [Pdrdod” THESDD SHhHd T8
B8 IS

(B E‘E‘.ﬁﬁ‘#& Nl L8]

(2)
By ehy PdrSo B HoPodd I
Ngo e

08 5

u&ss'u Crad s oA

(4)

D HREo&'D rgoH HEHS* B34S Jog
g0 Hrddpod ?

(1) a.:'rgnﬁ.: SOoUdond ﬂ‘u"a.u&
(2) wrgo¥Hi DYodHods Jaw
(3) wrgodH Hirew gnd Sy

7 wrgohs® K&
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143.

144,

145.
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Depreciation is charged on
(1)
(2)
(3)
H}.

Current assets
Fixed assets |
Both (1) and (2)

None of these

Depreciation charge is based on
(1)
(2)
(3)
(4)

Book value
Net value
Market value

All of the above

Which of the following is the main cause of
depreciation 7

(1} Wear and tear
(2) Economic factors
(8) Time factors

(4) All of the above

Depreciation is
(1)
(2)
(3)
(4)

Expenditure
Loss
Liability

Income

Fixed instalment method of depreciation is
also called as.

(1)
(2)
(3)
(4)

Diminishing balance method
Straight line method
Multiple instalment method
None of the above

{ 34)

141.

142,

143.

144,

145.

o))

Sibde Bws BEBId
(1) (58 eDoD
(2) Eu‘*@u}g

(1) &doy (2) Bodor

4) o8 5%

$HibEe BE) Sobardl 28 ugebo ?
1) DBEH Dewd

(2) NES e

8) &3y Dewd

W ey

(808 >AS° SHhibsoh Swepg s*Emo 7
(1) é&dbde
(2) Hgﬁ WOFED

(8) s*®0 .

‘{_,4)" Eﬁl

S

(" 2. Dy
(2) =¥ S0
(3)
(4)

¥ 2000

25 ugrodo

.'»gﬁ aronore  Shibde :}ga;: aer Erge
wobrd

(1 ﬁﬁ;ﬁ}él DORO :;ga
2) HArS oo 5:5&
(3) o3 EI‘IDJJE‘I'ID E:quﬁﬁ

(4) o8 %
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146.

147.

148.

149,

150.
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Amortization applies to
(1)
(2)
(3}
(4)

Intangible assets
Fixed assets
Wasting asscts

None of these

Depreciation is calculated on the intangible
asscts at the rate of

(1) 12%
(2)
(3)
(4)

26%
15%
10%

Reducing instalment method is also known as
(1}
(2}

Fixed instalment method

Fixed percentage on original cost

method
(3) DBoth (1) and (2)

(4) None of these

Provision for Depreciation Account is shown
in the balance sheet ag a

(1)
(2)
(3)
(4)

Liability side
Asset sido
Debit side
Credit side

Depreciation is calculated for the following
purposcs.

(1)
(2)
(3)

To know the true profits
To know true financial position

To make provision for replacement of
assels

(4)  All of the above

{35)

146.

147.

148.

149,

150,

B

[Ee cweddrdd Ehibdo S58 da8
$83008

t‘l‘f/éiafaf:m Yo

(2) ?i;-m__ﬁ)m

(3) S&ihénd) sven

1) 2B s

L5580 wdeodn s T Jod ?

J7e]

(2)
(3)
(4)

12%
25%
15%
106

Shis) Joge SHhde g8

(1) 33::5 Troluore ::«ga o0 ¥rd wolrdh
(2 el 6D 28 Al ::‘ga

(3) (1) sudboXw (2) Sodwr

(4) 28 s

Sdibde AP uwl wdyo PS 5 E
Srayerds ?

m'/ 200 3
(2)
(3)
(4)

wipo 3
3d& 3%
Ea8 39

Sde %
ey 7

(1) Dadd orgrw BadnEidards

(Borase FEH Eﬁgr

(2) duBd ©0E DAY BewdEIas
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ety Jomydy Jobardd
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